關於均衡人口理論的幾個計算式

定常人口
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。若以不定積分的型態表達定常人口Tx，則
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另一方面，由定義
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也可推導出類似的不定積分
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幾個與
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相關的積分式：
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，或是
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Example 1. Find an expression for the average at death of those who in the survivorship group who survive to age 40 but die before age 55. Evaluate the expression numerically using the 1989-91 Taiwan Life Tables (Male and Female). 

(The number of persons in this group is 
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The total number of life years lived by the group is 
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which is evaluated using integration by parts to obtain 
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Divide by the number of deaths (l40(l55), the average age at death for the male is 
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Similar calculation for the female 
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From these two numbers we can see that the female has higher average age.

Example 2. A company with 1000 employees is kept in a stationary state by admission of a uniform number of entrants at exact age 25. There are no decrements other than death, except that 1/4 of those who reach age 60 retire and 1/3 of those who reach age 62 retire. The remainder all retire at age 65. Find (a) the number of annual entrants at age 25, and (b) the total number of deaths in service each year. 
((a) Symbolically, the size of the staff would be 
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given that there were l25 new entrants. Let the number of new entrants be E, then 
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Plugging into the numbers in 1989-91 Taiwan Life Table (average of the male and female), the number of new entrants E = 27.69. 

(b) There are l25(l60 deaths in the (25,60) age interval, 3/4(l60(l62) in the (60,62) age interval, 2/4(l62(l65) in the (62,65) age interval, totaling 
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 deaths, given l25 new entrants. The answer is proportionalized to E/l25 and so is equal to 4.59 deaths annually. 
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